Quick Wit$S

1) 50° HiSHeI‘ 9 1) Expand (x +4)(x —5)

Expa
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Function Machines 2) Factorise x“ —9
The output is 4 times as big as

the input. What is the value of _
the input? Drawing Graphs
Plot the graphy = 2x + 1

Input Output
Completing the Square 7'

1) x>+ 6x+10=0

2) What is the coordinate
of the minimum point?

Probability
There are 1000 people in the

school. Within the school there are
150 more girls than boys. What is
the probability of selecting a boy?
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0 _ Hi Herl 5 1) Expand (x +4)(x — 5)
Do0m=1 8 = x% +4x — 5x — 20
1 Function Machi =x%—x—20
unction Machines 2
The output is 4 times as big as 2) Fa(icorlse x° =9
. . = (x+3)(x —3)
. . the input. What is the value of _ "
3) 1253 = (3\/125) the input? Drawing Graphs
= 52 = 25 Input Plot the graphy = 2x + 1

2)

Output ¢ 2 <y <2
—_— >_> or—2<x .
Completing the Square E_> 9 7'

D x%+6x+10=0 ix+99_4x
(x + 3)2 —9+10=0 Probability
(x + 3) t1= 0_ There are 1000 people in the school.
2) What is the coordinate Within the school there are 150 more
of the minimum point? girls than boys. What is the probability
(=3,1) of selecting a boy?
Boys = x and Girls=x + 150
x+x+ 150 =1000
2x + 150 = 1000
2x = 850
x =425

P(Boy) =

425 17
1000 40
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